bit [1:4] x, y;

constraint c1 { 2 inside { x , y }; }

This constraint can be rewritten as:


(X == 2) || (y == 2)

The intersection of the two thin lines in the graph below represent the solution space for the constraint. In English, this constraint specifies that at least one of the two variables (x or y) will have the value 2. With some probability, both x and y will be assigned the value 2 (the point of the intersection in the graph) otherwise one of the variables will be assigned the value 2 and the other variable will be assigned a random value (between 0 and 15 in this case).
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bit [1:4] x, y;

constraint c2 { 2 inside { [x : y] }; }

This constraint can be rewritten as:

(x <= 2) && (y >= 2)

The two thin lines and the shaded box in the graph below represent the solution space for this constraint. This is very similar to the c1 constraint with one notable difference: the range implies an ordering between x and y. The solution is simply the intersection of the two solutions for x <= 2 and y >= 2. In this case, both variables must always be assigned values in order to satisfy the constraint.
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